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><:ia) Rs. 2,125.67
Xb) Rs. 2,250.33

%) Rs. 1416.67
“Xd) Rs. 1,450.33 qUrifepa) am of?

The ticket of an IPL match in
Chennai was Rs. 2,500. When the
price of the ticket was lowered, the
sale (number of tickets) of the
tickets was increased by 50%, but
the revenue noticed a reduction of
15%. What was the reduced price of
the ticket (rounded off to two
decimal places)?

A+~g A IArsfivad g &1 fede 2,500
S, 7| Wd fehe B BHd HH Bl
g, df fewel @1 fawr (fedal &)
&T) 50% d¢ s, odfdd Joied |
15% @1 ®HI <] T3 | fede @1 adl
s oMd (3l S¥MAd ©IEl dd




A mixture of milk and water

contains 18 parts of milk and 8

garts of water. How much fraction of

<" AR Ul @& 5o 4 18 AT qY

3R 8 WET Uil 2| fsor &1 fhamn
39 fdraddy SUD I YR U

Sla-l drfey drfe 9+l 3R g &I
3UTd §YIER &l SI1Y?
(a) 1/18 (b) 12/18

(c) 10/18 d9Y5/18




. A policeman spots a thief 120 m
ahead, immediately the policeman
starts chasing the thief. The
policeman runs 26 m in a minute
and the theif runs 20 m in a minute.
In what time will the policeman
catch the thief?

s Yferaddl d 120 Hiex it
aR B <@, qid Yfawsdl 4 4aR
&1 BT HET Ye dY feEr
gferaadl ta fie 9 26 #Hiew <ledl

| g 3R IR U fise & 20 #Hiew
(a) 21 min Min dear 21 o f wiv at Bead
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A thief is observed by a policeman
from a distance of 420 m. The thief

starts running and the policeman

‘————4 chases him. The policeman and the

HQO"" thief run at a speed of 25 km/h and
20 km/h respectively. What is the

distance between them after three
5“" —> oMM minutes?

31.1,1Q$ﬂ1~4 ®! Uh gferasddl 3 420 Hex
& g 9 Q@M IR ¥R ol

S 2.0

_‘RSD IR gforaadl sadr dis1 Fvar 2.
_ foraat 3R I :
"'4—0\0/] q HHY: 25

(a) 250 m (b) 320 m ﬁ:‘ﬁ/ﬂaaﬂ‘\’ 20 fHY /&er &1 fa
9 dlsd & | 19 e 9 S9e =

(c) 230 m \)&nmm ) <8 T 22




Ifx+y+z=11,xy +yz +2x = -6
and x3 + y3 + 23 = 1604, then the
value of xyz is:

Ilﬁrx+y+z=11,xy+yz+zx=-6
Gﬁ'\'x3+y3+z3= 1604,?ﬁxyz$l
7 @

(a) 5 (b) 4

(c) 1 Jd—)’{



If 8A51468B is divisible by 88, then
what is the value of B - A?

gfe 8A5146B, 88 4 fawrsy 2, a1 B
-A BT qH R 27

(a) O (b) -1

L()y{ (d) 2
-3 ©



A shopkeeper is selling a gift
packet of fruits in which he is

mixing apples and mangoes. The
packet contains total o % its
at a an average rate of R per

kg. In the packet there are 8 kg of

apples at the rate of Rs. Qd/pler kg,
while there are 4 kg of mangoes at
the rate of Rs. X per kg. Find the
value of ‘X’ Note: All other charges
are to be ignored for packing.

Udh GHFER Hell BT (dh IUBR UdHT
49 @ & forad a8 99 3R I
firer <81 21 d®c ¥ Ftad 100 U
& R 4 da 12 fHal ®a 21 90



9 yfa fedl @f ¥ 4 8 foell 4|9
g, vafe X 9d ufa fedl @ ¥ 4
4 fHall MW B X* BT HH 1A BN |
qie: UfeT & oy s |t gedl &l
ORI G fhdT SITgArT |

(a) 96 (b) 100

=T 120 (d) 110



(a) Rs. 6
(c) Rs 16

Ramesh was receiving two offers
on a book with a marked price of Rs.

Either two successive
'36 , scounts of 20% each, or two

©

¥ Rs. 8

(d) Rs. 20

successive discounts of 30% and
10%. How much more must Ramesh
have saved if he chose the superior
scheme over the other?

YHY Bl 800 ¥UA $ 3Iifhd Hou drell
s fdhae wR ST AT frd <= o | A
dl 20% Ydd I & Hid BT, Il
30% 3R 10% P al HiAd 8| Al
WY A gl FIoET 9 dga} ol
gl a 9ad feahl e s=a &)
gif1?



Ifa+b+c—6,a2+b2+c2-32
and a® + b® + ¢ = 189, then the

]8‘3—-3”9 6@ Q_) value of abc abc 3 is:

uﬁa+b+c-6 a2 + b2 + ¢2 = 32,
3 aﬁ?a3+b3+c3-1sg dl abc -3 &:

(a) 2 (b) 3

i, @ =




The cost prices of two articles A
and B are in the ratio 4 : 5. While

selling these articles, the
shopkeeper gains 10% on article A
and 20% on article B and the

\—//_Ndiffience in their selling prices is
‘6'0 3 Rs 480. The difference in the cost
price (in Rs.) of articles B and A is:

<l a3l A IR B &1 Y YA 4 : 5

® IUd H = | 31 I&IAT Bl 9

@ R, THMIR Bl 9% A | 10% 3R

ﬁswzo%mmﬁm%m

fassa o1 & AR 480 YA B |

- 0" T B AN A D wu e (oW A) A
(c) 400 (d) 350  gigw fopaaT 27

X2




An electronic shop is giving 26“/;)

discount on the purchase of any
electronic device hasing price Rs.

80,000 or above, 7/ discount on

the items priced be n Rs. 50,000

and Rs. 79,999, (10%/discount on
items ranging from Rs, 20,000 to
Rs. 49,999, and discount on
purchase of an
such as mobile cvers, earphones,

rgers, etc. As per terms and
conditions, all these discounts are
independent and are offered only on
the basis of price range. Ajay bought
a mobile of price Rs. @a
laptop of w, and a mobile

cover of Rs. 400. How much total
——
discount did he get?




®

(a) Rs. 22,002 (b) Rs. 21,012

Udh Zodgif-id G 80,000 B. Al
SUd 3t I ®Ea drel fedr Hi
sAdCiFe IUHT P @A R 20%
@ BC & @ 2| 50,000 YA 3R
79,999 ¥R ® dId DI DIEA dlell
&3 X 16% dI BT 20,000 94 4
BN 49,999, ¥UY AP DI IE3AT WX
10% &1 Be| 3R fedl 1 wiezd
Taaadd Ol AldISd ®ay, SAXBI,
el AME B @¥le R 3% &l 8L |
Fram sk sl @ gER, 4wl Be
Wdd B 3R ddcd oI AT & IR
9X U9 $I Ol 8| 39T A 40,000
ST BT TP HIdISl @iIal, 90,000 BT
U oluciy @Gl 3R UdH Hidsd
$ax 400 ¥UF EAET| IH G fHa-l

(c) Rs. 22,120 udr Rs. 22,012 gz fiehy?



In a triangle ABC, D and E are
@ ﬂgn points on BC such that AD = AE and

AD = /CAE. If AB = (2p + 3), BD =
p, AC = (3q - 1) and CE = q, then
Q? find the value of (p + q).
%-] vt 3w ABC #, D 3R E, BC W
Ud fdg € f& AD = AE 3R ZBAD =
/CAE | If¢ AB = (2p + 3) BD = 2p,

@ PN AC=(3q-1E:ﬂ2;CE=q,ﬁT(p+q)
$T Y 9Td |
U £ (b) 2 i
. (c) 3.6 (d) 4.5 ; 4
34 -

=5



If the length of a diagonal of a
square is (a + b), then the area of the
square is:

gfec td a7 & faHvi &1 F418 (a + b)
O a0k 2, @ af &1 %A @

1
2_ (a) 2 (aZ + b?)

(b) a2 + b2

@ (d) a2 + b2 + 2ab



A can paint a painting in 12 days,
B can paint the same in 8 days, C

\ (2- ,0 can pairc ae same in 10 days. Find
‘B |20 ’ {7 the((approximate)ynumber of days in
o (2

which théeé painting can be painted
by A if the is accompanied by both B
and C together on alternate days

\Q‘O and A starts painting on the first
:l‘?__ o (\ .@5 day alone.

\\o L‘ A U UfeT &1 12 f&af § dT &%
— + =9 e 2 B 9@ @ 8 R A T B

ghdl 2] € Sl &t 10 fear & dc

O‘
| ¢ &R wedl =l e @ @)
"'38“- &7 S ditug forad A g1 9feT
&1 Ue fHar o1 9dar 2 Ife B IR
(a) 4.4 days ua){é days C (oW Usiax A1 & Swar wrer
dd ® 3N A ugd &9 s@d ofeT
(c) 7.2 days (d) 8.5 days BRAT I AT R |




S bells start commencing together

They ring at the intervals
of 12 seconds, 18 seconds, 24

seconds, 3_9___ seconds and ___i_tE
seconds. At what time do the bells
ring together again?

5 Hfedl gdg 9 99 UdH WIA qul
e BIdl 21 4 12 AP, 18 DS,
24 4, 36 Adbs IR 45 hs D
SIW W dodl = | ffedar fhw 4

maaﬁr;lz? ®
(a);/lom Mo v

(c) (d) ¢ 05 AM




Chords AB and CD of a circle,
when produced, meet at the point P.
If AB = 6.3 cm, BP = 4.5 cm, and CD
= 3.6 cm, then the length (in cm) of
PD is

gd @ Sfl4ai¢ AB 3R CD, 3ml
aaﬁ R, fig P W fad) 21 afe
= 6.3 441 BP-451-‘|11’T 3k CD

3.6 94l dl PD @ dqrs (44 #) @
P(al48cm \J,lr)/stl-cm

(c) 3.5 cm (d) 3.1 cm

Ws(v®)= 7(('&*';/@




A and B are two prime numbers
such that A > B and their LCM is
/_\209 The value of B2 - Ais:
|1X 19 A 3R B Ul T avreg 9@V 2 &
A > B 3R S9TdT dgTH GHYa 209
2| B2-A Pl A1 &

(a) 109 (b) 111

\)p’/IOZ (d) 121
© ¥



age homes. If he spends Rs{ 28,500
on food and old age homes,
what will be the salary of A?

A 33U dd9d BT 45% HIGF R @d
BT & 3N AU daT T 5% JGI5H
# T dxar = | IS 98 28,500 Y
AIGH IR g W) @d ddl @, dl
A BT dad9 &1 BI? @

(a) Rs. 52,000 Ms, 57,000
(c) Rs. 50,000 (d) Rs. 55,000

A spends{45% pf his salary on food
and donateg S of his 331&@
en



A thief started his journey at a
speed of 60 km/h. After 30 minutes,
police started from the same place
but at a speed of 80 km/h. How

much time (in hours) will the police
take to catch the thief?

Udh diX Y-l g1 60 fobHl /€er DI
Tfd | Yo dxdl = | 30 e & 491,
yfera Sl w91 | 80 f&Hl /ger 91
fd 4 dadl w1 gfew, AR &l
ypsd H feaqr 9y (uet #) af?

wmum (b) 1/2 hours

(c) 1/3 hours (d) 5/2 hours



>$) Rs. 23,500 Mt

In an elections there were two
candidates A and B. The total
number of voters in the
constituency ws 90000 and 70% of
the total votes were polled. If 60%
of the polled votes were cast in
favour of A, how many votes were

" received by B?

Ud g1d A & IIcaR A IR B o |
fFaias &3 & Hag@el @ §d
|1 90000 21 AR B Adl BT 70%

AdaqrE g3l Afe dasE 4 ¥ 60%
dic A @ U9 ¥4 Uyg, d B &l fdbdsd

1

Rs, 25,200
(4 Rs. 28,700 ) Rs. 28,600



What will be the total cost (in Rs)
of polishing the curved surface of a
wooden cylinder at rate of Rs. 50
per m?, if its diameter is 70 cm and

P

height is 6 m? (Take n = 22/7)

ey

Udh ddel @ da Bl 9 Y Bl 50
o ufa e @ ) 9 uifersr s
d B ard (Bud #) Far g, afe
SU®T A9 70 GHI 3R HA1E 6 Hicx

2? (m =22/7 <o)

\);{660 (b) 612

(c) 675 (d) 624

A 11l paan e 7231



In AABC, D is a point on side BC
such that ZADC = ZBAC. If CA = 15
cm and CD = 9 cm, then CB (in cm)
=7?

AABC #, D ¥4l BC WX (& fdg 39
ysR & fb, «ADC = /BAC | 3ufQ
CA = 15 9#] 3ilk cD = 9 |}, @i CB

@H #4) =2

(a) 10 (b) 15

yy{s (d) 12

9 =15
15 B



A table whose marked price Rs.
300 is sold at two successive
discounts of 20% and 10%. If in
addition a discount of 5% is offered
on cash payment, then the cash
price for the table is:

—9 Uh cdd foradr 3Afed Jea 300 U
g, 99 20% 3MX 10% @) & HAN

/. X9/%95/8 W d49r Wrar @ afe gue
800?(%/ . faR, Tda HIAE WX 5% DI BT

fopa=r 87 @

>fn) Rs. 210.25 () Rs, 216.50
)@ Rs. 240.25 (¢) Rs. 205.20



.Ifx+y+2z=18, xyz = 81 and xy +
yz + zx = 90, then find the value of

‘.f/xa+y3+za+xyz.
ﬂﬁ-’x+y+z=18,xyz=813ﬁ'\’xy+
yz + zx = 90, dl Yx° +y° +2° + xyz B

O AF 91 P |
\JR16 (b) 9

(c) 10 (d) 12

3k @

%2 <6




(b) 2
(d) 6

A tyjp has 3 punctures. The first
puncture alone would have made
the tyre flat in 9 minutes, the
second alone would have done it in
18 minutes, the third alone would
have done it in 6 minutes. If the air
leaks out at a constant rate, then
how long (in minutes) does it take
for all the punctures together to
make it flat?

Uh cRX ¥ 3 UYda} Bld B | Ugdl
Yo o 9 fFe A E'I'EI? Pl HHIA
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The average of sixteen numbers is
48. The average of the fierst six of

thes is 45 and that of the
last seven numbers 13~ 53. The
seventh and the eight numbers ae,

respectively, 3 and 7 greater than

the ninth number. What is the
average of the ninth and seventh
numbers?

icleg G138 &1 3i9d 48 2] 59
4 Ugell B8 A& &I 3i4d 45 ©
v sifaw ara =R &1 3itad 53
2] gradi 3R 3medl &A1 HHI:
Jidl 9@ 9 3 3 7 At 2 | Ay
IR ATad] A3 BT IJd T B2

(a) 39 (b) 41.5

\{e130.5 (d) 42
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The expression (cos®) + sin®) - 1)
(tan20 + cot?0 + 2) + 3 is equal to:

Adh (cos®) + sin® - 1) (tan20 +
cot20 + 2) + 3 RIEN 2

U

=Ys

@
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Let AABC ~ PR and 2AABC =

\_/ ar(AQPR) ({69
If AB=10cm, BC =7 cm and AC =

.m then PR (in cm) is equal to:

HMT AABC~PQR qoyp 2HAABC) 64
ar(AQPR) 169

gfe AB = 10 9Hl, BC = 7 41 3i¥
AC = 16 4, 9 PR (41 #) avrav
T

(a) 13 (b) 21 ®
(c) 15 d] 26




